
6

1660(L) x 530(W) x 1160(H) mm

 Front Removable Grease Tray●

960

Astro 6 Burner BBQ

Large glass viewing window

Wok side burner



1

BBQ ASSEMBLY & OPERATION INSTRUCTIONS

6 BURNER WITH SIDE BURNER – MODEL SYGP 6B



2



3



4



5



6



7



8

1 Hood 2 Warming rack 3 Cooking grill x 2 4 Hotplate

5 Firebox rear panel 6 Firebox 7 Firebox side panel
- left

8 Firebox side panel
- right

9 Flame tamer x 4 10 Control knob x 7 11 Left side table 12 Left side table 
front

13 Right side table 14 Right side table 
front

15 Cabinet side panel
- left

16 Cabinet side panel
- right

17 Cabinet back panel 18 Side burner 19 Grease tray 20 Grease tray handle



9

25 Right door 26 Cabinet bottom
 panel

27 Fixed castor x 2 28 Locking castor x 2

29 Base weight x 2 30 Grease guide
plate x 2

31 Hood handle 32 Side burner knob
 shroud

33 Left grease tray 
guide

34 Right grease tray 
guide

A
B

21 Cabinet separation
 panel

22 Cabinet crossbeam 23 Magnet plate 24 Left door



Hardware Pack

10

No. Description Image Qty

K 6M4 Flat Washer ( Silver )

L

M

P

R

T

6

6

2

2

1

Φ4xΦ10x1 Silicone washer

M4 Nuts ( Silver )

M8x20 Hinge Pin

R pin

Screwdriver

J 27M4x10 Screws ( Silver )

A

B

C

D

E

F

4

4

56

16

16

21

M6x65 Screws ( Silver )

M6x30 Screws ( Silver )

M6x12 Screws ( Silver )

M6 Spring Washer ( Silver )

M6 Flat Washer ( Silver )

M5x10 Screws ( Black )

G

H

17M5 Flat Washer ( Black )

M5 Nuts ( Black ) 4



NOTE: 

-   Always wear gloves during assembly of this BBQ. 

-   Assemble the BBQ on a flat level surface

STEP 1

Assemble the 'Base weight'A and B (29) on the 'Bottom panel' (26) using screw (A) 8pcs as 
shown.

STEP 2

Assemble 'Fixed castors' (27) 2pcs and ' Locking castors' (28) 2pcs on the bottom using 
Screw (C) 16pcs, Spring washer (D) 16pcs and Flat washer (E) 16pcs as shown.

11

Base weight A

Base weight B



STEP 4

Assemble the 'Left grease tray guide' (33) and 'Right grease tray guide' (34) to the 'Cabinet 
separation panel' (21) using Screw (J) 4pcs, then assemble the 'Cabinet separation panel' to 
the cabinet using Screw (C) 4pcs as shown.

12

STEP 3

Assemble the 'Cabinet side panel - left' (15) and Cabinet side panel - right' (16) and 
the'Cabinet back panel' (17) to the 'Bottom panel' using Screw (C) 12pcs as shown.

NOTE: Do not fully tighten the cabinet fasteners until the BBQ is fully assembled, as this will 
enable straightening / squaring of the assembly at the end.



STEP 6

Assemble the 'Firebox' to the cabinet using Screw (C) 4pcs as shown.

13

STEP 5

Assemble the 'Grease guide plate' (30) 2pcs to the 'Firebox' (6) using Screw (J) 4pcs as 
shown.

NOTE: Pay attention to the direction of the Grease guide plate, it should slope downward 
towards the center of the Firebox.



STEP 8

Assemble the 'Fire box side panel - left' (7) and 'Firebox side panel - right' (8) to the 'Firebox' 
using Screw (F) 6pcs, and Flat washer (G) 6pcs as shown.

14

STEP 7

Assemble the 'Cabinet crossbeam' (22) to the cabinet using Screw (F) 4pcs and to the 
'Cabinet separation panel' (21) using Screw (J) 7pcs as shown.



15

STEP 10

Assemble the 'Magnet plate' (23) to the cabinet using Screw (J) 4pcs as show.

STEP 9

Assemble the 'Fire box rear panel' (5) to the 'Firebox' using Screw (F) 8pcs, Flat washer

(G) 8pcs and Nut (H) 4pcs as shown.



16

STEP 12

Assemble the 'Left side table front' (12) to 
the 'Left side table' (11) using Screw (C) 
3pcs as shown.

Assemble the 'Right side table front'(14) 
to the 'Right side table' (13) using Screw

(C) 3pcs as shown.

STEP 11

Assemble the 'Left door'(24) and 'Right door'(25) to the cabinet as shown.



STEP 14

Assemble the Side burner valve to the 'Right side table'through the 'Side burner knob 
shroud' (32) using Screw (J) 2pcs.

Note: Ensure the window in 'Side burner knob shroud' (32) is located at top.

STEP 13

Assemble the completed 'Left side table' and 'Right side table' to the firebox using Screw

© 10pcs as shown, 5pcs per side.

17



18

STEP 16

Fasten the 'Side burner' (18) to the 'Right side table' using Screw (F) 3pcs and Flat washer 
(G) 3pcs as shown.

NOTE: Before fastening ensure that the burner tube is located OVER the gas injector at the 
rear of the side burner control valve as shown in step 15.

STEP 15

Put the 'Side burner' (18) into right side table, and ensure that the burner tube is located over 
the gas injector as shown.



19

STEP 18

Assemble the 'Hood handle' (31) to the 'Hood' (1) using Screw (C) 4pcs, 2 from inside and 2 
from outside the hood as shown.

STEP 17

Connect the igniter wire from the burner head to the rear of the side burner control valve as 
shown.



20

STEP 20

Put the 'Flame tamer' (9) 4pcs into the fire box as shown. NOTE: Flame tamers should be 
located under the cooking grill.

STEP 19

Assemble the hood to the Firebox using'Hinge pin'(P) 2pcs and'R pin'(U) 2pcs as shown.



21

STEP 21

Put the 'Hotplate' (4) 1pc, 'Cooking grills' (3) 2pcs and 'Warming rack'(2) 1pc into the fire box 
as shown.

STEP 22

Assemble the 'Grease tray handle' (20) to the 'Grease tray' (19) using Screw (J) 6pcs, 
Silicone washer (L) 6pcs, Flat washer (K) 6pcs and Nut (M) 6pcs as shown.



22

STEP 24

Assemble the 'Control knob' (10) 7pcs to the 'Firebox' as shown.

STEP 23

Insert the Grease tray into the fire box as shown. 

NOTE: To remove lift and pull.



23

STEP 25

Your BBQ is now fully assembled.



24



25



26



27



28



29



30



31



32



33



34



35



36

STEP 2

Exchange the battery as shown below. 

First loosen the screw, then remove the battery contact and battery, replace the battery 
taking note of the orientation shown below. Then assemble the battery contact in the original 
position and  re-insert the retaining screw.

Note: Each knob is powered by an 11A 6v L1016 battery.

Pay attention "+"and "-" 
directions of the battery

Screw

Battery contact

Battery

How to replace the battery in the LED Knobs 

STEP 1

Ensure the knob is in the OFF position, then gently pull the LED knob straight out from the  
control panel.



37

Glass fixed panel

STEP 2

Using a screwdriver loosen the two side 'Glass retaining brackets'as shown.

How to replace the glass in hood 

Note: Always wear gloves during replacement of the hood glass 

STEP 1

Remove the temperature gauge as shown.



38

STEP 4

Remove the stainless steel edging as shown.

STEP 3

Move the glass panel to the left side of the BBQ hood, as seen in picture 1. The glass can 
now be lifted and carefully removed, as seen in picture 2

Stainless steel bar

Picture 1

Picture 2



39

Silicone seal

Silicone seal

STEP 6

After disposing of the old glass correctly, the new glass panel can be installed. 

Place the new silicone seal around the edges of the glass as shown.

STEP 5

Remove silicone seal as shown.



40

Picture 1

Picture 2

Stainless steel bar

STEP 8

Carefully place the left side of the glass panel into the hood before lowering the right side in, 
as seen in picture one. Then move the glass panel to the right until it is in the centre of the 
hood.

STEP 7

Assemble the stainless steel edging over the silicone seal as shown.



41

Glass fixed panel

STEP 10

Assemble the temperature gauge on the hood as shown.

Note: Please do not overtighten the temperature gauge nut.

STEP 9

Using a screwdriver replace the two side'Glass fixing brackets'as shown using the M6 
Screws (4pcs)



42

This warranty in Australia is given by Pacific 
Gas & Heating Pty Ltd,        
Tel: 1300 793 978.        
Email: service@pacifictrends.com.au

The warranty in New Zealand is given by 
Bunnings NZ Ltd, PO BOX 14436, Panmure, 
Auckland, 1741. 

Customer Support Ph. 1800 797 586

Email: onlineEnquiries@bunnings.co.nz 

Any claim under this warranty must be made 
within 12 months of the date of purchase of 
the product. Proof of purchase must be 
presented.

Goods presented for repair may be replaced 
by refurbished goods of the same type 
rather than being repaired. Refurbished 
parts may be used to repair the goods.

FOR AUSTRALIAN CUSTOMERS

To make a claim under the warranty please 
contact the store where the product was 
purchased or contact Pacific Gas & Heating 
Pty Ltd directly. 

CONDITIONS OF THE WARRANTY

The warranty covers domestic use only and 
does not apply to commercial applications. 
You may submit details and proof to our 
store for consideration. The warranty covers 
manufacture defects in materials, 
workmanship and finish under normal use. 
This warranty is provided in addition to other 
rights and remedies you may have under 
law: our goods come with guarantees which 
cannot be excluded under the Australian 
Consumer Law. 

You are entitled to replacement or refund 
for a major failure and to compensation for 
other reasonably foreseeable loss or 
damage. You are also entitled to have the 
goods repaired or replaced if the goods fail 
to be acceptable quality and the failure 
does not amount to a major failure.

FOR NEW ZEALAND CUSTOMERS

To make a claim under the warranty, take 
the product (with proof of purchase) to any 
Bunnings store (See www.bunnings.co.nz 
for store locations). This warranty is 
provided in addition to other rights and 
remedies you may have under law: our 
goods come with guarantees which cannot 
be excluded under the Consumer 
Guarantees Act 1993(NZ). You are entitled 
to replacement or refund for a major failure 
and to compensation for other reasonably 
foreseeable loss or damage. You are also 
entitled to have the goods repaired or 
replaced if the goods fail to be of 
acceptable quality and the failure does not 
amount to a major failure.

Goods presented for repair may be 
replaced by refurbished goods of the same 
type rather than being repaired. 
Refurbished parts may be used to repair 
the goods.

The warranty excludes damage resulting 
from product misuse or product neglect.

The warranty covers domestic use only and 
does not apply to commercial applications. 

Thank you for purchasing one of our quality Jumbuck products. Your Jumbuck product is 
covered against defects for a period of 12 months for parts and labour, repair or 
replacement. This warranty excludes surface rust and damage caused by abuse or neglect. 



43

RECORD THE FOLLOWING 
INFORMATION

Attach a copy of the purchase receipt here:

Date of purchase……………………..

Purchased from.............................

Location………...……………………..

Model Name and Number.…………..

Date of Manufacture….………………

Receipt number…….………………...

FOR TECHNICAL ASSISTANCE

For Australian customers

If you experience any technical issues with 
your Jumbuck product, in the first instance 
review the instruction manual or call the 
warranty service agent below.

For New Zealand Customers

If you experience any technical issues with 
your Jumbuck product, in the first instance 
review the instruction manual or call your 
local Bunnings Warehouse.

WARRANTY CLAIMS

For Australian customers

Please contact:
Pacific Gas & Heating Pty Ltd, 
Tel: 1300 793978. 
Email: service@pacifictrends.com.au

For New Zealand Customers

Please contact the store where the product 
was purchased.

Please thoroughly read conditions of 
warranty.

· The appliance must be operated and 
maintained in accordance with the 
instructions supplied in the operating 
manual.

· Any repair does not extend the 
warranty period.

· Any parts other than original 
Jumbuck parts will void this warranty.

INSTALLATION CONDITIONS

· All installations must conform to the 
applicable Electrical and Building 
standards as laid down by the local 
codes or state or region.

WHAT IS NOT COVERED IN THE 
WARRANTY

· Removal or re-installation costs. This 
warranty does not cover costs for 
transit nor in home service.

· Lack of maintenance, abuse, 
neglect, misuse, accidental or 
improper installation of this 
appliance.

· Scratches, dents, corrosion or 
discolouration caused by heat, 
abrasive chemical cleaners or 
chipping.

· Corrosion or damage caused by 
exposure to the elements such as 
insects, weather or hail.

· Cleaning and wear and tear; service 
calls of this nature are chargeable.

· Commercial use of the product.

· Unauthorised repairs or 
modifications during the warranty 
period.

· Consumable items, example – 
heating elements.


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44

